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(ii)
Since »=0.95 <1, sum to infinity of G.P. exists.
45

1-0.95

=900 cm

-. maximum total height =

(iii)

Total height reached

Before 2™ pull | 0.98(45)

Before 3 pull | 0.98(0.98(45)+45)
=0.987(45)+0.98(45)

Before 4" pull 0.98(0.98"(45)+0.98(45) +45)

=0.98°(45)+0.98 (45) +0.98(45)

Before (+1)™ | 0.98"(45)+0.98"(45) +...+0.98(45)
pull ~ 0.98(45)(1-0.98")

1-0.98
[sum of G.P. with =45, r=0.98]

.. before 4™ pull, total height reached

_ 0.98(45)(1-0.98")

k, 1-0.98

=129.67164

=130cm (3 s.f)

Before (n+1) " pull, total height reached

_ 0.98(45)(1-0.98")

- 1-0.98

=2205-2250(0.98)""" , where X =2205, ¥ =-2250

(iv)

From (iii),

Total height reached by load using hoist C = 2205 —2250(0.98)""'

As n—o0, (0.98)"" = 0.
Hence maximum total height — 2205.

Therefore maximum total height reached by load using hoist C will approach 2205
cm. Therefore the hoist C cannot be used to lift the load up the building of 2500 cm
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